Resolution No. 84-217-5

RESOLUTION OF THE GOVERNING BODY OF THE THREE AFFILIATED TRIBES OF THE FORT BERTHOLD RESERVATION

- WHEREAS, This Nation having accepted the Indian Reorganization Act of June 18, 1934, and the authority under said Act; and
- WHEREAS, The Constitution and By-laws of the Three Affiliated Tribes authorize and empower the Tribal Business Council to engage in activities for the welfare and benefit of the Tribe and tribal members; and
- Pursuant to the contract between the Tribes and the Attorneys, WHEREAS, Hobbs, Straus, Dean & Wilder, the Attorneys have submitted a voucher for fees and expenses for the month of May 1984 in the amount of \$11,732.11;
- NOW, THEREFORE, BE IT RESOLVED, That the aforesaid voucher is approved. The Area Director is requested to approve as soon as possible and notify the Tribal Treasurer so that a check can be written.

CERTIFICATION

, the undersigned, as Secretary of the Tribal Business Council of the hree Affiliated Tribes of the Fort Berthold Reservation, hereby certify that the Tribal Business Council is composed of $\underline{9}$ members, of whom $\underline{7}$ constituting a quorum were present at a special meeting, thereby duly called, noticed, convened and held on the $\underline{8}$ day of \underline{August} 19 \underline{gt} , that the foregoing resolution was duly adopted at such meeting by the affirmative vote of $\underline{9}$ members, $\underline{0}$ members opposed, and $\underline{0}$ abstentions, and that said resolution has not been rescinded or amended in any way.

Dated this 8th day of August, 1984.

Acting Secretary

Tribal Business Council

ATTEST:

OR ESTABLISHMENT AND LO R - Indian DBBS, STRAUS,	CATION	DATE VOUCHER PREPARED 8/7/84 CONTRACT NUMBER AND A 0 0 C 1 4 2 0 REQUISITION NUMBER AND	DATE 1145			AID BY
		CONTRACT NUMBER AND A00C1420	1145			AID BY
				• <u></u>		
OBBS STRAIIS		REQUISITION NUMBER AN		- <u></u>		
OBBS STRAUS						
ABBS STRAUS						
IRRS STRATS						
735 New York						
ashington, D.		VV •				ATE INVOICE RECEIVED
			}		ā	SCOUNT TERMS
					P	AYEE'S ACCOUNT NUMBER
	10	· · · · · · · · · · · · · · · · · · ·	WEIG	WEIGHT GOVERNMENT &		
EOF	SERVICES	QUAN	UNIT PRICE		AMOUNT	
ERVICE supply sche	dule, and other infor	er of contract or rederal mation deemed necessary)	TITY	COFT	PER	
Affiliat	ed Tribes	of Fort Bertho.	lđ			\$11,021.50
						710.61
Necessiony)	(Payee mus	t NOT use the space b	elow)	L	TOTAL	\$11.732.11
VED FOR						
=\$	<u>l</u>	= \$1.00	<u>\</u>		<u> </u>	
			j			
······			Amorana	verified: o	orrect for	
				and the second secon		
	E OF VERY ERMCE Legal May 1934 Affiliat Reservat Expens contract Meccuary) VED FOR =\$	TO E OF VERY ERVICE (Enter description. item number supply schedule, and other infor Legal services r May 1934 on behalf Affiliated Tribes Reservation: Expenses incurre contract, posted d Meccusary) (Payee musication) SVED FOR =3	TO E OF WERY ARTICLES OR SERVICES (Enter description, item number of contract or Federal subply schedule, and other information desmed necessary) Legal services rendered during May 1934 on behalf of the Three Affiliated Tribes of Fort Berthol Reservation: Expenses incurred under the sar contract, posted during May 1984 Mectuary) (Payee must NOT use the space be EXCHANGE RATE = \$	TO WERC E OF VERY (Enter description. itsm number of contract or Federal supply schedule, and other information detended necessary) QUAN- THY Legal services rendered during May 1984 on behalf of the Three Affiliated Tribes of Fort Berthold Reservation: Quan- THY Expenses incurred under the same contract, posted during May 1984: Image: Contract, posted during May 1984: Messawary) (Payee must NOT use the space below) Exchange Rate Di Amount (Signature)	TO VEIGHT E OF ARTICLES OR SERVICES QUAN UNIT VERY ELegal services rendered during May 1984 on behalf of the Three Affiliated Tribes of Fort Berthold COFT Reservation: Expenses incurred under the same contract, posted during May 1984: Image: Contract, posted during May 1984: Image: Contract, posted during May 1984: Maxed of the Three Affiliated Tribes of Fort Berthold Image: Contract, posted during May 1984: Image: Contract, posted during May 1984: Maxed of the Three Coff Exchange Rate Image: Contract, posted during May 1984: Maxed of the Three Image: Contract, posted during May 1984: Image: Contract, posted during May 1984: Image: Contract, posted during May 1984: Maxed of the Three Image: Contract, posted during May 1984: Image: Contract, posted during May 1984: Image: Contract, posted during May 1984: Maxed of the Three Image: Contract, posted during May 1984: Image: Contract, posted during May 1984: Image: Contract, posted during May 1984: Image: Contract = 1 Image: Contract = 1 Image: Contract = 1 Image: Contract = 1 Image: Contract = 1 Image: Contract = 1 Image: Contract = 1 Image: Contract = 1 Image: Contract = 1 Image: Contract = 1 Image: Con	TO WEIGHT G E OF VERY ENVICE ARTICLES OR SERVICES (Enter description, item number of contract or Federal impediated sector) GUAN- TITY UNIT PRICE Legal services rendered during May 1984 on behalf of the Three Affiliated Tribes of Fort Berthold Reservation: For Berthold Reservation: Impediate State Expenses incurred under the same contract, posted during May 1984: TOTAL Measurery (Payee must NOT use the space below) TOTAL

I managed a mark water

ALL ALL - CLARKE

ł

2

:

HOBBS, STRAUS, DEAN & WILDER

LAW OFFICES 1735 NEW YORK AVENUE, N. W. WASHINGTON, D. C. 20006 (202) 783-5100

August 7, 1984

PORTLAND OFFICE: I23 N. E. THIRD AVENUE, SUITE 425 PORTLAND, OREGON 97232 (503) 232-5353

NEW MEXICO AFFILIATE: ROTH, VAN AMBERG, GROSS, AMARANT & ROGERS 347 EAST PALACE AVENUE SANTA FE, NEW MEXICO 87501 (505) 988-8979 AND 983-7319

FLORIDA AFFILIATE: TWOROGER, SADER & FERRELL 2651 NORTH FEDERAL HIGHWAY FORT LAUDERDALE, FLORIDA 33339 (305) 565-8990

S. BOBO DEAN (DC, NY) CHARLES A. HOBBS (DC) FRANCES L. HORN (DC, WV) JOSEPH J. B. RYAN (DC, TX) JERRY C. STRAUS (DC) LEROY W. WILDER (OR, DC, CA)

CAROL L. BARBERO (DC) JAMES S. RICE (OR) THEODORE A. SHIELDS (MD)

JERRY R. GOLDSTEIN (DC, MD) MICHAEL P. GROSS (NM, AZ) KENNETH F. TWOROGER (DC, FL) OF COUNSEL

ROBERT J. MARTIN GOVERNMENTAL AFFAIRS COORDINATOR (NOT ADMITTED TO ANY BAR)

> Three Affiliated Tribes New Town, ND 58763

STATEMENT

General counsel services during May 1984:

Mineral Bill: Heavy work preparing the various documents and exhibits for inclusion in the briefing book, and duplication of same; work on agency and North Dakota strategy; conferences at BIA re support of legislation, and draft decision memo for Interior Department; draft letter for Tribe to send to Senators Andrews and Burdick; conferences with Corps of Engineers re support for bill.

Mr. Hobbs	17.6 hours	х	\$100	= .	\$1,760.00
Mr. Straus	0.7 hour	х	100	=	70.00
Mr. Shields	0.6 hour	х	100	=	60.00
Mr. Martin	23.0 hours	х	60	=	1,380.00
Mr. Segall	31.4 hours	х	60	=	1,884.00
Paralegal	26.7 hours	х	25	=	667.50

Indian Finance Act and Supplemental Appropriations: Attend meetings at BIA and on Capitol Hill with delegation re application for direct loans, met with delegation to prepare for same; drafted language; sent letter to Senate delegates; contacted Congressional offices; drafted Hill testimony for Dennis Huber and accompanied him to give same; contacts with House Interior Appropriations Committee; letter to Alyce.

Mr.	Hobbs	1.0	hour	х	\$100	=	\$ 100.00
Ms.	Barbero	26.5	hours	х	100	=	2,650.00
Mr.	Shields	4.8	hours	х	100	=	480.00



Three Affiliated Tribes May 1984 Statement Page Two

Miscellaneous: Meet with delegation; Old Scouts work; letter to Alyce Spotted Bear replying to her question on Frontier Trust Company; confer with Alyce and Mike Cross re Four Bears draft to EDA; also re beefing up TERO on Beulah Project.

	Hobbs Martin		hours hours		=	\$	390.00 480.00
General	counsel fees	:				\$9	,921.50
Retaine	r fee*					1	,100.00
Total f	ees:					\$11	,021.50
Bind Loc Lon Pos Pho Loc Pro	s posted durin ding al transporta g distance can tage tocopying al couriers rata share of osts month of	tion 11s news		\$ 50.00 21.90 172.74 13.45 289.45 38.85 124.22	••••	•	710.61

* The retainer fee covers, in part, the Tribe's share of the firm's "All Tribal Client Services," which is the time put in by all attorneys in the firm on matters affecting all our tribal clients. The retainer fee also includes attorney travel time for up to four trips a year, and includes minor telephone conversations.

\$11,732.11

<u>A F F I D A V I T</u>

City of Washington) : SS. District of Columbia)

CHARLES A. HOBBS, being first duly sworn, upon oath deposes and states:

That he is an attorney at law, duly enrolled and authorized to practice before the courts of the District of Columbia and the Department of the Interior of the United States, and is a partner of Hobbs, Straus, Dean & Wilder;

That under the provisions of Section 81, Title 25 of the U.S. Code said firm has entered into Contract No. A00Cl420ll45 with the Three Affiliated Tribes of the Fort Berthold Reservation, which is currently in effect through December 31, 1985;

That all of the services listed in the attached statements were rendered by the personnel and in the number of hours stated, as shown by the daily diaries of said personnel.

Charles A. Hobbs, partner

Subscribed and sworn to before me this 74 day of August, 1984.

C. Williams

. . Commission Expires June 14, 1923